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(i) Nominal income increases.
(i) Money supply increases. (5,10)
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8. Explain the followings :
(i) Monetary Aggregates
(ii) Inflation

(iii) Consumption Function and Saving Function.
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(a) What is Macroeconomics? Briefly discuss the

different Macroeconomic issues.

(b) Compare the classical and Keynesian views on
the speed of wage and price adjustment. What
are the important consequences of the differences

in the classical and Keynesian views? (8,7)
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(a) What is national wealth, and why is it important?

How is national wealth linked to national saving?

(b) How the demand for and supply of central bank
money determines the equilibrium interest rates in
an economy with currency and checkable deposits?
Explain using formal analysis and diagrams.

(5,10)
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(a) Why do we call mechanisms such as proportional
income taxes and the welfare system automatic
stabilizers? Choose one of these mechanisms and
explain carefully how and why it affects

fluctuations in output.

(b) How is the rate of interest determined by the
demand and supply of money? What happens to

the interest rate if:
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(1) Calculate the equilibrium level of income 2. (a) How does GDP differ from GNP? If a country
and the multiplier in this model. employs many foreign workers, which is likely to

be higher: GDP or GNP?
(i1) Calculate also the budget surplus, BS.

(b) Discuss the product and Income approach to

(111) Suppose that t increases to .25. What is measuring Gross Domestic Product (GDP).

the new equilibrium income? The new (5,10)
multiplier. (7,8)

(37) WHA W IS, Wehel UL IeE A o wAR T
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(3r) R RN 27 Ui did ITT W (MPC) ¥ fra
TR & 27 Jemdr 9i@g e #ifm)

(=) g A () whel M IE (GDP) @ wow B fw Ieme sk

@ C=50+.8YD k b I 3R W owEt wW)
ol I1=170 '
T g & = 200 3. Suppose Congress decides to reduce transfer
payments (such as welfare) but to increase government
TR & = 100 purchases of goods and services by an equal amount.
O W & = .20 That is, it undertakes a change in fiscal policy such
that AG = -ATR. Where G = Government Expenditure,
(i) =w «fsar % 7@ & ¥goA &R IR U & TR = Transfers
(1) Would you expect equilibrium income to rise or
(i) =t sfeEmw & of woEr Y, Hew) fall as a result of this change? Why? Check
your answer with the following example: Suppose
(ili) T UWE T ¢ ST 25 B S B 7w that, initially, ¢ = .8, t = .25 and Y, = 600. Now
S SR T i @ B let AG = 10 and ATR = -10.
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(ii) Find the change in equilibrium income, AYo.

(iii) What is the change in the budget surplus, BS?
Why has BS changed? (15)

7 AR B i SRR A (I HE) w R
F RGN FE 2, AT T A H e IR A
) Wl @l T s @ g i, 78 aerEE A
¥ =a wER uRads e ® fF AG = -ATR | 98T G = &)t
@, TR = FHFRY

(i) F AT T qEAT B URVEREET Gqe 3@ ¥ gfE
71 fige & 390 A7 A7

frafafag IeEer ¥ F IR & S w AF Aty
5 s ¥, ¢=8,t=.25 3 Y, = 6001 & A
AG = 10 3 ATR = -10 |

(i) Ggerr 3@ ¥ aRed= 7w o, AY |

(iil) wote sty fga ¥ w0 geeE 87 BS W@ w9w W
37

4. (a) Define the expected after-tax real interest rate.
If the tax rate on interest income declines, what
happens to the expected after-tax real interest

rate?
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(b) What is the difference between the Desired
Capital Stock and the User Cost of Capital?

(c) Explain the concept of Money Multiplier.
(5,5,5)
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(a) What is Multiplier? How multiplier is related to

Marginal Propensity to Consume (MPC)? Explain

with an example.

(b) Described by the following functions :

Consumption C=50+.8YD
Investment I =170
Government Expenditure G = 200
Transfers TR = 100

Tax Rate t = .20
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